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1. What least number should be added 1o 235 10 make it perfectly divigible by 7
Ay 2
B) 3
o 4
M 12
118 TF) 7 0T WOERNF RN i TRE o ) Aoad, Al elema g
A 2 :
By 3
¢ 4
By 12
= Atwo digit mumberis such that its product = = and if |8 added to that number, the digits are
reversad. The number is
A) 18
By 24
Cy 42
Dy Rl
sOtEs tsodadz Fe 5 VET TieEie § EE S0F 18 SedasS, wofne dwhecd wmenEd, &
Aoz Jj:;@a: ' |
Al 1d
By 24
)42
v &l
3. HCF between 200 & 50 15
Al 4 .
B 5
€y 10
D} 20
20 223 50 o riow] mang, mos (HCF) ==
B
1
Dy 20
St - A [RT.0O.
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4. LCMbetween 63824

Al 3

B) 16

C) 456

Dy 12

6. 38, 14 UEE mRnE mE“E-EJE%{L{;M} GlREET

A} 3

By I6

)} 456

m 12

5. Fmd the number which will divide 43, Y9 &1832 so as to leave same reminder

A 4
g 7
c 9
m 13

£3. 93 020 183 ) LOTH OUST LI BRL TIET Tol . camgria?

Ay 14
q H 7
g 9

m i3

6. SLET Examination 13 conducted to appoint
A) Lectorers
8) Bapk Employee
) Defense Staff
D) Civil Servants

SLET =03 cinz dend anwes sdssens sl
A) SRR ATON

' Bl = o7 mdadhnen

C) oEme Ae 00

D) =it Sedvi

(Set-A}
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7. 1E5 15 conducted to appoint
A)  Engmeers
) Accounlanl
) Pilot
I Clerks
TS Toeg Cine Hrlted ZREW TETmreEn?
A)  SEOEEROIOTIYD
Bl dE@Emoc
Ch :_ . i
M Sadcs

. 1TO 15 related o
Al Inlermation technology
B} ‘lelephone Department
) Tncome Tax Deparimenl
B None ofthe above
[T s ts AT v By
A} =Zmbkizcs A
B) omeTmmeicomal
Cy  srmoh Zom aomsd
1) Serdd cdmgcn =g

Y. CAT s the examination conducted for entenng inlo
Al Charled sccoumtant course
B) CostAccountant
C) Legal studies
I Management Programs
CAT maeg comahoid = ses oddolous 3=y
A)  IEFTE eonT RAT T
L} Seniend g obd
) OEr S Tenior g, sorh

-t -4)

SEESH52
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0. Minimwm qualification to become 1 Post han
A} Noyualilication
) Passing in 107
Cy Any graduation
M Post gTur.‘l uate
FEATEOIs A E.,cuc-mri_n CHE e=mrd olmeima?
A) cmq.cﬁh e e
B} LS 30T mREmhon D
() SR B
Dy mIFseEizue

11, Minimum gualification to become a probationary offlver ing Nationalised bank

B} Postgraduate
) CA

D} MWone of these

g T i, o3, T, SRR ==} eafyEmD wrion BRE BErE REha?
Ay BT

B) FRERRIEC

C) R

Rt e
¥ shedE ol 2

|'I
|....
_.-]
|J1
H

12. The ratio ol incetne of A, B & € is 3:7:4 and the ratio of v pendinme |
{F A saves Rs. 300 out of 2400 nd the sav ngs of C

Spoctiv Cl"-

&) 563
B} 570
Cy 575
0} 5RO

&, T oTEy A sonohs weEmEm 274 Tods adnl eTEeEcy zommen 430

i

ﬂﬂﬁ%ﬂ. s.orh =d o 7400 oy 300 A amm::d;émﬂ_ goEkeiaoln.
A) 565
By 570
Cy 573
Ty 530
(Set-A)
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12, Afatheris 7 vears older Lban the mother and the mother's age now is 3 limes of the daughter.
T'he daughter is 10 years old now, what was the father’s age when daughier was horn®

A) 27 years
13} 37 vears
:-_-J 15 1'«' Ars

Iy 40 years

2ot Taconcd 7 SEr SeREl ws Toliel S8 woliRs Sory SoibA 3 sk, SN
=odomy T 10 SEE. Fonv e N BT HIRR o )

A} 37 ZEF

By 375z

) 1s=ar

[} 40 25F

14, Ifx:p=2:1 find the value of (23} (x+4p)

Al B
B T8
Cy &9

LY None of the above

x:y—2:1 wpdssen (2xt3y): (rHdy) coaBa, wala?

A} 89
13y T:8
1 57

DY oede conme BE)

(Set-A) [FL.O.
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15.

16.

I'he respective ratio berween the present ages of Ram, Rohag & R 1s 3:4:5, [T the average
of their present apes is 28 years, then what would be the sum of the ages of Ram and Haj
together after 3 vears

Ay 45
B} 55
Yy 52
D) 66

ToEF, GmeE Tid TeT UTT BHE Tolan waiinE s, wal SA0E SoEAT ATLRD

1§ EE eoms HeEenns, § selrmi 90T M moe) o Swd solinE Eag Lyl

5
A} 45
5 55
c) 52
Dj 66

13400 is divided arong 3 workers A, B & Cin the ratie of 4/3:2:303, find the share of vach
worker

A} 2400, 60005000
By 2400, 5000, 6000
Ch 3600, K000, 1800
1y 5000, 6000, 2400

134400 &5y TsTh Sar gl A, B, e C i d/5:2:8/ 3 eihmmens mossmiic. T8 T B
Towdd aE) ?

A} 2400, 6000,3000
Y 2400, 5000, 6000
O} 3600, SO00, 1800
¥ 5000, 6000, 2400

(Set-A)
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18.

1%,

The ratio of monttdy income of A & B is y-% and their monthly expenditure is n the ratio of
6. |F each of them saves Rs, 800U per month, find the sum their monthly Ineemes,

A Rs. 136,000

B) Rs. 28,000

1 B 6EOM

[y Rs, 32,000

A wash B o meE soRoiD oo oo T S sThIRE Te. B MONTH 21000
MR, w0 SRl AT )

A} Rs. 136,000

B) Rs. 28000

C) Rs, 68,000

Dy Rs. 52.000

Afler an increase of 7in both numerator +nd denominator ,the fraction change 18 7/8, what
was the original [raction?

A} 512
By 79
C} A5
D) 38

e was: ®oudod SgpRlod T1/38 fractional ratio ren 7 By wocimng., SR frac-
lHon 2t

Ay 512
By 79
£ 25
AR

T a class of 40 students 25 boys and 13 girls are included, the average {1l students 1 7,
iCthe average of girl sdents is 8, what sre the total marks scored by bogs.
Ay 2000 -

B) 1000
) 1600
o) 600

2850 40 ST, FTIRSL 25 oarits FhE 15 =oEncgimd Ao, SRIVE, =R
w0 La B momde T0. modaiadd TR0 80 2T, FamanT iy HUENE ~E?

B) 1000
¢y 1600
o) G0

(Set-A) |E.T.0.
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20, Theaversge wages ina faclory per dayis Rs 80 with total of 400 w orkers, if average wages
2301 male werkers is Ra. 90, find the average wages of fernale workers.

Ay Rs 100

BY Rs k2

) Re 110

D) MNone

maaiodd) 78 OF T80 RoUAD SeERT 400 THLIT RO, 220 TS0 ROl e £ou
R S Tior e ITRED SeE L

A)  Rs 100

B) Rs B5

€} Rs 110

D} olRedcsss

21. The average temperature of Wednesday, Thursdsy & Friday was 40 deprees Culsius,
The average for Thursday, Friday and Saturday is 41 degree Celsitis. What is the temperature
on Wednesday 1011 15 42 degree Celsins on Saturday”

A} 139 degrees Celsius
B) 44 degrees Celsius
Yy 3H degrees Celsius
1 41 degrees Celsius

wgiwe, TR FhEy B0EsR00 Al SERET 40 3Dy g, ToToERT, B0F0T
FED FUmOT BTAD BERRT 4 (ah, BEOTIT, BT 4T B TEE WITEROD i
;::“**ut _
A) 139 &, SE oD
B) 44 uh, Adoir
) 34 2, F9obT
D) 41 &n 2L
22, The average of first 5 mubiples of & 1s
A) 20
B lé
) 28
0y 30
f O Bl § remREny AmEh 250!
Al 20
B} 16
Cy 2&
Dy 30
(Set-A)
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23,

24,

The average of 3 bows is |5 vears, il their ages are in the ratio of'3:3:7. the age of eldest boy

15

A)

B)

7

Dj

3 BT TS el 1§ . vt ol T sweE 3151 B0, em B wolr:
ﬁm_ﬂu

A)

B}

The average of group of men 1s increased by 4 years when a person of 18 vears is replaced
by & new person aged 34 years, how many men ars in the group.

Al 3
By 4

|8 SrT WmENSRY 38 S o doeg wdrmoioiien rocdd ol WosEn 4 o
o w, .S -
= i T - L :
DB MRCER Y W wRLTRTY
X -1 = fre]

(Set-A) |ETO,
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35, |1 aboul there are % men, whoss average weight is increased by 1ke when 1 man of 60 kg |
replaced by new man, whal is the weisht of new man?
Ay TOke
By 6bkg
Q) 68kg
D) 69 ke
60 2,25 3RE0 . 20dE; LOTRCIIART § 5T Thes mmah 1 Bl S an. Sen e Ac
BT aE?
Ay 7oz
LY R
C} 68 ol
D) 6952
36.  The sum of Ages of 5 children bomn al the interval of 3 vears each is 50 years, what is1
age ol the eldest child?
Ad b4 vears
By 1% years
€y 10 years
0 16 years
5 WaTw e TR Te3 50 FEF, 2 SEry weTood mnadds. 58 2H00 FhaS ala
w1
A) ldz=EF
B) |R=wr
) 10 mas
I3 16 smEs
(Set-A)




27. The following 1s ihe perlect square

Ay 10000
B} 10201
Cy 11025
D} 9801

N SOEGE 1

A 10000

(13}

digit nuniber

S5EES552

A sumn ol 201 15 made up of coins conzisting of Rs. | coins 30 paise and 23 paise n the ratio
of 3:6:8, how many mepes coins are there

1dr., 505, So 18 A ey r9eD 51608 2

B) 10201
Cy F10E5
D 930
28.
A} 163
B} 168
Cy 103
oy 100
L TR
Ay 163
By 168
Cy 105
oy 100
29, Talky is related to
Al Music
BY  Accounts
Cr  Medicine
1 Photography
b, i
Al Zonew
B} ﬂ@i’#ﬁ:
Y Eug
[} eocdres,
{Set-A)

Tl

2 £201 mon, bacwhd, o3 L .
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30. Ramesh suid,"Sathish is safe” indircet speech 1s
A} Ramesh said that Sathish is safe
B Rameshconfirmed Sathish is safe
) Ramesh declared that Sathish is sale
1% Ramesh felt happy Sathish is safe
Coiaest, “rierf WTUETT SO0, DRED TORE *
A)  Toslunt Haezt RU0EE HCT T
B} cocher sbor 7083 aon SulBmEAmEon.
() cesingt Haerf TOOULE womh PRIMATTE.
D) et nodmimsiic.
31, Proving the meitle is to show
A)  slrength
By weakness
) both
1Y nome
Froving the mettle_ 73 Z20losgse
A) T H TR0
B) whusos
C) ~oee
D) znace sy
(Set-A)
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32. Hehasaloval subordingte. Loyal isa

A Noun
1) Pronouan
1 Adverh

D) Adcelive

A mEw

B) ssermesh
C) &cinzo
DV rorseees

33,  Inasequence the vumberol 24,8,

7, 64

Ay 10
B) 1o
) 24
I 30
Aol 3, 4,8, 32, b4 ORI AR AT WRETEY, w
A 10 )
R} 16
C)y 24
Dy 30
34. Hiz birthday falls Jume
Al i
B) on
Dy at
“His birthday falls
Al
B} om
Cy o by
Ly at
(Set-A)
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35, Thewsspek M the floor
A, =
B =
) o=
Dy =
| ~There = 2 pamk we __ the floor.” =9 338 ecinm S
Al om
B =
C) o=
i =

36. By sellimg peosiucs S Bs. 520 = person incurs a loss of Rs. 80 what is the cost price

A) Ra &

B Rs e

O S8

Dy N

| 7520 € =T SSoOL TRETEN TR0 AEERhD. WEHE DD TO aEg?

A Bs 48

Bl R =B

O BaSse

D) ==

37. Xand'¥ hewesgmmmershin business with a contribution Rs. 13.000& Rs. 16,000 respective]
o e ponal R W5 6,200 then X's share s

| -
| B) R 3606
I O Bx 3200
| D) Rs 4000
X = ¥ s =oesond) T18000 T3 TL6000 ZelE SRlced. T6800 Szang. X
e
A Rs 480
B Rs 3600
O R 3200
Dy Rs 2000

Set-A)
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38, [fAborows Ra 40,0000 41 8 sunple interest of 12% PA for % months, the interest works 1o

A)  Rs, 4,800

B) Rs 2400

C) Rs 3600

D None

A 240,000 12% B0% LEDSCE 3o R BELET, WE a2

Al Rs. 4800

Bl Rs. 2,400

Ch  Rs. 3,600

D)) cimgtie e

39, Binvested Rs. 60,000 in 10% per annum simple mnterest Lor 2 vears, The amount at the end
of 2 vears 13

A)  Rs, 69,000
B) Rs 72,000

1 Rs, TR,000

[}y Rs. 88,000

B 7 0000 W L0% SRS Paialh *-:.:E.gic-:iﬁéz SEe EaRrhn, STo g SErTie moed ;:Ja;-
BT RTIET?

Al Ra 69000

R} Rs. 72,000
C) Rs. 78.000

D) Rs. 88000

(Set-A) [P.TAD.
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4. Inacoding language, FASY iswrittenas 5117 Then m the same coding language, BEAM i

written as:

A} 4512

B} 4567

€y 2513

oy 2514
EASY w3 wom: daew wealadd, 5117 2000 wdcomend. BEAM ws:
WOCTOTIOT
A} 4512

H} 4567

Gy 2513

Iy 2514

41, Varmfacewer;:Sports:
Al lawwer
B}  enpmeer

1 police
1 Plaver

Farm:farmer::Sports:

Ab o lawer
B} enginesr
Cy  police
13y Plaver

42. Plane: pilot ship:

A} crow
B} dnver
) river
)} Sea
Mane: pilot :ship:
Ay ourew
By dnver
Cy  owver
[¥)  Sea
(Set-A)
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43, A& B are brothers C is the daughter of B and 13 is the hushand of C.whal is the relation sl¥ip
of' A und B's father to T)

At Orandfacher

t)  Fatherinlaw

Ch Grandfaibyrnlaw
17 None

A= B 2a@nemods. B < o sosme DL Co s A v B eagess D f s

FHenog?

A) B

B) =z=xaz

C) suzdng

D} cengos s

44, “Copy cat”iiom means
Al One who copies the others
3] Some one who looks like cat
Cy  One wihe 1s independent
13} Mone
“Copy Cat” aew vl mosn sprdesy

b B -
.ne'l} T 455‘% ST EAETY

) P10,
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45,

Tn the amtonyms of the word Dexterity, the following can’t be included
A) Stupidity

3} Tnsensiove

€)1 Adept

LN Chunsiness

Ué.::rd:-: ity 203 s;;d:m__;ﬁrﬁ et atato s me el Janhan g o

A) Thamdess

B) wrdes

C) mmhen

[}y zogi=s

Read the following passage and answer guestions 46-500
fvhE T ey weEs LO 05 46-50 FINeT segin

Story of Mike and Morris
g 2T =0T SmEF

Mike and Morris lived in the same village, While Morris owned the largest jewelry
shop in the village, Mike was a poor farmer. Both had large families with many sons,
danghters-in-law and grandchildren. One fine day, Mike, tired of not heing uble to feed hus
family, dovided to leave the village and move to the city whers he was cerlain 10 2am enou oh
1o feed everyone. Along wilh his family, he left the village for the city. Al night, they stopped
under i laree tree. There was a stream running nearby where they could [reshen up thermse hves.
He told his sons to clear the area below the tree, be told his wile to fetch water and he
instructed his daughters-in-law 10 make up the lire and started vutting wonad [rom the tree
himself. They didn’t know that in the brunches of the ree, there was a thief hiding,
He watched as Mike's family worked together and also noticed that they had nothing to
conk. Mike's vwife also thought the same and asked her husband” Everything is ready but
what shall we sat? Wike tajsed his hands to heaven and said Don't worry, He is walching all
of this from ahove. He will help us."The thief got worried as he had seen that the family was
lurge and worked well together. Taking advantage of the fact that they did not know he was
hiding in the branches, he decided 1o make a quick escape. He climbed down safely when
thes were not lovking and ran [or his life. But, he left behind the bundle of slolen jevrels and
money which dropped into Mikes lap. Mike opened itand junmpedd with jov when he saw the
comtents, The family alhered all their belongings and returned to the village, There was
great cxcitement when they told everyone how they gol rich. Morris thought that the ree
wis tmiracnlous and this was a nice and quick way to catn some money, He ordered his

{Set-A)
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Lamily to pack some clothes and they set off a5 if oo a jourtey. They also stopped under the
sere iree and Moms started commanding evervone as Mike had done. But no one in his
family was willing to obey his ordors. Being 2 rich family, they were used 1o having servants
all aronnd, So, the one who wenl o the dver to fetch water enjoved a nice bath, The one who
went to get woed for fire went oll'o sleep, Mormis's wife said “Fverything is ready bui what
shall we eat? Morris raised his bands and sa1d,” Dont worry. He is watching all of this [rom
above. Hewill helpus,” As soon az he limshed saying, the thief jumped down from the tree
with a knife i hand.Seeing him,evervone started runmmy around to save their lives, The thief
stole evervthing they had and Morris and his family had 1o retum to the village empyhande,
haviny lostall their valuables that they had taken with thern,

w35 woE) SRUT Lotk MEinY mELTW. SReT M Eimdd den syons sona
i;ct;aql. w257 e SEMNG, embnTus ten sRINNTE R i fugy, Redohs,
IES ﬁmﬁaﬁ;‘iﬁﬂﬁjﬁ.

woTh O, 2T Eg%:mcu%; o el ] e o, Wen WERGlNT, B MMELEE D
N L (2]

ANTE Saenus OFtad, ¢ IYEd, o BeiEEn cEsieemuEie o SRR
s - -y = '

. MR, ST Sl #odg fWn L o8 drichindeo
-

-
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46.  Why did Mike and his family decide to rest under the thief”s tree?
Al Being a large family, they linew that they could easily deleat the thicl
B)  Ttwas a convenienl spol lor taking 3 hull s night
") There was g strearn near by and wood enowgh to build a house
1Y) That was the only larse tree that could shelter their larpe family
siyT° 2 Boaioontlaclyn B Son B Sonies Fdnsta?
A) =St der DUCLTRAG T FRE TUERN Hardnua

B) w3 Sories soh wasdeudd B4

o
O Ened @40 e mon $U0 dledrt mEnh mioes)
a s = L e
D) =Zed Seiong weom Rrmen wotd ta 2w s
-~ = w

(Set-A) IET.O.
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47.  “hich of the following best describes Moris?
2 Hewas arnch businessman
i1y He bullicd bis wite
{)  Hepaid his servants well
737 Hewas greedy and inutated Mike
Tt Sfap T e T aeE Ty CIREET
A) et HextoE o RSN
B) =5 Somaoa GRnasnte
() Dewstn cud s 5T rEid %ﬁ:-
D)  exmhmps me dyF o) Ssned
48, Whal did Mike mcan when he said “He iz watching all this [romabove™?
Al Hehad spotted the thief and wanted to seare him
Bt Hewastelling his wile 1o have faith i zod
Oy 1l was justa wamning for his family members to stick together
[}y Lle was begging the thief to help his family
Sy 7 ess3o Fhedion AR mrd eolEn 4aRy ETERGEEAY DY
A st ssiang nTbnagim mad) eEEng BELIL TEET
B) demvsind wmr sEU0ER mOoRAM BgTo
(7)) = sniacnd Qud DeEes NI
13 wfar demcis BT
4%,  Why did the thief return to ihe tree?
Al Toowait for Mike Lo retizm
B losetupatrap
3 Towait Jor Mornis's family
173 Mol mentioned in the passage
9% So0E Lehidories monalen?
A) shotd wom not
B) imaf SR
(') Tnt dnonig ol
I shosad eeadraimae),
(Sul-A)
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S0 Llow did the fellow villagers react to Mike setting rich over night?
Ab  They were jealous of him
Bl They were very exciled
€1 They lollowed his cxample
13 Theyenvied him
= T LOE B2d old) Sesmesmoen, TR s ol 83T
A) st egm wi exsol @i
B) @ dos YIS ELeDET:
C) sy gmbma wmauacios

¥ e guidoned Ei=ive

(Set - A)
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